LX1000 PROTOS 500 - ULTRA TAIL CASE - SILVER
LX1001 PROTOS 500 - ULTRA TAIL CASE - RED DEVIL
LX1002 PROTOS 500 - ULTRA TAIL CASE - BLACK

STEP 1 STEP 2

DR1164
Protos 500-Tail side right

DR1162
Protos 500- Tail case mid

Loctite 648

MR105-2Z-W4-NKS
Radial bearing 5X10X4 - NKS Japan

Loctite 242

2 X TCEM2.5X5
Hex cup screw M2.5X5

STEP 4 STEP 5

DR1163
Protos 500- Tail side left

DR1167
Protos 500 - Tail pulley tensioner

Loctite 648 Loctite 648

Loctite 648
Loctite 648

2 x MR847z-W3

Radial Bearing 4x8 W3
2 x DR1166

Bushing 2.5x4x3.75

MR105-2Z-W4-NKS

Page 01

Radial bearing 5X10X4 - NKS Japan

LYNX MANUAL DOC .REV .A 06-06-2014

STEP 3

DR1165
Tail control arm

Loctite 242

2 x TBEM2X4
Bottom hex cup screw M2X4
Hex socket 1.5

STEP 6

Assembly step 4

Loctite 242

TCEM2.5X16
Hex cup screw M2.5X16

HELI INNOVATIONS



LX1000 PROTOS 500 - ULTRA TAIL CASE - SILVER

LX1001 PROTOS 500 - ULTRA TAIL CASE - RED DEVIL

LX1002 PROTOS 500 - ULTRA TAIL CASE - BLACK
STEP 7

Tail boom

2 holds must to
be concentric

STEP 8

Assembly
Tail gear with
tail shaft STD

Assembly step 5

, Shim 5.1x7.5x0.2

Loctite 242 Add extra shim to
Loctite 242 remove any tail shaft
vertically play

TCEM2.5X12
Hex cup screw M2.5X12

2 X TCEM2.5X5
Hex cup screw M2.5X5

Page 02

LYNX MANUAL DOC .REV .A 06-06-2014

STEP 9

2 x TCEM2.5X20
Hex cup screw M2.5X20

DR1168
Pin tail case

Loctite 242_— %

Proros 500-Vertical fin

HELI INNOVATIONS



